
Mummy Bear’s scarf is ____ long. 

Baby Bear’s scarf is ____ long.  

Daddy Bear’s enormous scarf is 8 m long. 

Mummy Bear’s scarf is  the length of 

Daddy Bear’s. Baby Bear’s scarf is  the 

length of Daddy Bear’s. 

Mummy Bear’s ear is ____ wide. 

Baby Bear’s ear is ____ wide.  

Daddy Bear’s ear is 15 cm wide. Mummy 

Bear’s ear is  the width of Daddy 

Bear’s. Baby Bear’s ear is the width of Dad-

dy Bear’s. 

Mummy Bear’s tail is ____ long. 

Daddy Bear’s tail is 14 cm long. Mummy 

Bear’s tail is  the length of Daddy Bear’s.  
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